#22 BEAEMREHR AR HIEX

5248 (&)
| CRETIN) | £2215 1] |
1530 75730~16 30 mmAa
161 55~17: 00 HEDEE
17:00 — 17 :00~18:30 5

PORITYL

[ RIES (S 2 IRE N EE]

S1-1~10

58258 (+)

B125 [1ER20R 3]

P25 [#]

RAE—2I5
[fEEDME 2]

9:005g- 00032 s - mr () |© 00 0 — R 2
— g ERE 1 MERNES - MEMERZE (1 s . - _.
& R MEMRE (] emem - ms - mm - meaE - oAl
9:33~10: 23 02-1~5 9:30
SURIYL2 9:40~10:04 —fgiERE 3
10:00 — [ERBHOEL) 7 1 [ ERES (1)) 03-1~3
gm*gés"zerjui gﬂmifg@ﬂ 10:04~10:28 —jg@ |
| , [ERARIES - MEMRE ()] 01-5~7
1021108 10:28~11:00 —pEmE 4
—HiRRE 3 (B RES (2)] [ERLERE O 7= 0 DEGEWT - Z Dt
11:00 = 03-4~8 04-1~4
: 11:00~12: 00
11:04~11:36
—RCERES [T U4 —~ - 20MEREE) SURIY L3
05-1~4
S BT (i B
T IR S
—WHE 6 [HketorE] 06-1~3 S3-1~6 ] _
12:00 . . . . KR Z—FR -
12 00~13 : 00 12:00~13:00 SERT
S Fareif—1 S Fareifr—2
Hg  TUOA%ASH Hig A SHBIAT 43
13:00 3= 50~13: 35
HE#EE ]
13:35~14:10
HEHE 2
14:00
14:10~14 125 sz A &3R4
14 26~15 : 34 14:30~15: 18
oo ess KX 45—
15:00 = s> W70 4 tyoar
BRSO AR AR P11~8
54-1~6 15 :18~16 : 00
e RRH—
15:36~16:07 — tysar?2
—iERE 3 [ HRES (3)) Po-1~7
16:00 = 03-9~12
16:07~16:55
—iyEE 1 [RMEMES - MEMHRZE(3)]
01-8~13
16 55~17: 00 SDEE
17:00 bl

14



